ZESTEROMNMN Bath Analyzer 20

Area of application for the ZESTRON® Bath Analyzer 20

In order to achieve consistent cleaning results, the user has to ensure that
the actual concentration of the cleaning agent stays within the
recommended application range. Various factors such as “drag-out”,
dilution and evaporation can potentially influence the actual
concentration. Regular measurements of all process related parameters
are therefore highly recommended. The ZESTRON® Bath Analyzer 20 is a
simple, easy to use method which provides reliable and accurate results
for fresh as well as for contaminated cleaning baths.

Simple measurement in only a few steps:

@ Sampling / Decanting

Advantages of the ZESTRON® Bath Analyzer 20:

e Very precise concentration measurement:

even for increasing contamination levels
o for fresh as well as for contaminated cleaning baths

e Simple and fast procedure
* Mobile, for use anywhere
e Requires little space with minimal investment

Specifically developed for the following cleaning agents:

¢ VIGON® A 200 neutral
¢ VIGON® 1000 CR

¢ VIGON® SC 202
e ZESTRON® VD 200

¢ VIGON® SC 200
¢ VIGON® N 500 & 501

The ZESTRON® Bath Analyzer 20 Kit includes:

1
2
3

PE bottle with injection nozzle
2 pairs of vinyl gloves

Digital thermometer (°C/°F)

5) Glass cylinder with marking
6) 6 x 100 ml ZESTRON® Bath Analyzer 20 test solution

)
)
)
4) Sampling beaker
)
)
7)

User manual, including correlation charts (not illustrated)

To place an order:

Part-No. | Article
ZESTRON® Bath Analyzer 20
5415
Portable case
5416 ZESTRON® Bath Analyzer 20
6x 100 ml Refill bottles in carton

Contact: ZESTRON Europe

Mrs. Luitgard Hannemann
Bunsenstr. 6 * 85053 Ingolstadt
Phone: 0049 (0)841/635-41
Fax: 0049 (0)841/635-40
L.hannemann@zestron.com

For further technical questions about the ZESTRON® Bath Analyzer 20, please feel free to contact our Application Department:
Email: techsupport@zestron.com

Phone: +49 841 635-26

Release Date: 15.11.2010

PRODUCT INFORMATION
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